

Integration Bee

Carmen Bruni

February 6, 2012

Question 1

Compute $\int_0^\pi \sin(x) dx$.

Question 1 - Solution

Compute $\int_0^\pi \sin(x) dx$.

$$\int_0^\pi \sin(x) dx = -\cos(x) \Big|_0^\pi$$

Question 1 - Solution

Compute $\int_0^\pi \sin(x) dx$.

$$\begin{aligned}\int_0^\pi \sin(x) dx &= -\cos(x) \Big|_0^\pi \\ &= -\cos(\pi) - (-\cos(0))\end{aligned}$$

Question 1 - Solution

Compute $\int_0^\pi \sin(x) dx$.

$$\begin{aligned}\int_0^\pi \sin(x) dx &= -\cos(x) \Big|_0^\pi \\ &= -\cos(\pi) - (-\cos(0)) \\ &= -(-1) - (-1)\end{aligned}$$

Question 1 - Solution

Compute $\int_0^\pi \sin(x) dx$.

$$\begin{aligned}\int_0^\pi \sin(x) dx &= -\cos(x) \Big|_0^\pi \\ &= -\cos(\pi) - (-\cos(0)) \\ &= -(-1) - (-1) \\ &= 2\end{aligned}$$

Question 2

Compute $\int e^{\sqrt{x}} dx$.

Question 2 - Solution

Compute $\int e^{\sqrt{x}} dx$.

Question 2 - Solution

Compute $\int e^{\sqrt{x}} dx$.

Solution: Let $u = \sqrt{x}$ so $du = \frac{dx}{2\sqrt{x}}$.

Question 2 - Solution

Compute $\int e^{\sqrt{x}} dx$.

Solution: Let $u = \sqrt{x}$ so $du = \frac{dx}{2\sqrt{x}}$.

Cross multiplying yields $2\sqrt{x} du = dx$.

Question 2 - Solution

Compute $\int e^{\sqrt{x}} dx$.

Solution: Let $u = \sqrt{x}$ so $du = \frac{dx}{2\sqrt{x}}$.

Cross multiplying yields $2\sqrt{x} du = dx$.

Since $u = \sqrt{x}$, the above is equal to $2u du = dx$.

Question 2 - Solution

Compute $\int e^{\sqrt{x}} dx$.

Solution: Let $u = \sqrt{x}$ so $du = \frac{dx}{2\sqrt{x}}$.

Cross multiplying yields $2\sqrt{x} du = dx$.

Since $u = \sqrt{x}$, the above is equal to $2u du = dx$.

Substituting gives

$$\begin{aligned}\int e^{\sqrt{x}} dx &= \int 2ue^u du \\ &= 2 \int ue^u du\end{aligned}$$

Question 2 - Solution (Continued)

$$\int e^{\sqrt{x}} dx = 2 \int ue^u du$$

Question 2 - Solution (Continued)

$$\int e^{\sqrt{x}} dx = 2 \int ue^u du$$

We integrate by parts. Let $v = u$ and $dw = e^u du$ so

$$\begin{aligned} v &= u & w &= e^u \\ dv &= du & dw &= e^u du \end{aligned}$$

Question 2 - Solution (Continued)

$$\int e^{\sqrt{x}} dx = 2 \int ue^u du$$

We integrate by parts. Let $v = u$ and $dw = e^u du$ so

$$\begin{aligned} v &= u & w &= e^u \\ dv &= du & dw &= e^u du \end{aligned}$$

Hence

$$\int e^{\sqrt{x}} dx = 2 \int ue^u du$$

Question 2 - Solution (Continued)

$$\int e^{\sqrt{x}} dx = 2 \int ue^u du$$

We integrate by parts. Let $v = u$ and $dw = e^u du$ so

$$\begin{aligned}v &= u & w &= e^u \\dv &= du & dw &= e^u du\end{aligned}$$

Hence

$$\begin{aligned}\int e^{\sqrt{x}} dx &= 2 \int ue^u du \\ &= 2(ue^u - \int e^u du)\end{aligned}$$

Question 2 - Solution (Continued)

$$\int e^{\sqrt{x}} dx = 2 \int ue^u du$$

We integrate by parts. Let $v = u$ and $dw = e^u du$ so

$$\begin{aligned}v &= u & w &= e^u \\dv &= du & dw &= e^u du\end{aligned}$$

Hence

$$\begin{aligned}\int e^{\sqrt{x}} dx &= 2 \int ue^u du \\&= 2(ue^u - \int e^u du) \\&= 2(ue^u - e^u)\end{aligned}$$

Question 2 - Solution (Continued)

$$\int e^{\sqrt{x}} dx = 2 \int ue^u du$$

We integrate by parts. Let $v = u$ and $dw = e^u du$ so

$$\begin{aligned}v &= u & w &= e^u \\dv &= du & dw &= e^u du\end{aligned}$$

Hence

$$\begin{aligned}\int e^{\sqrt{x}} dx &= 2 \int ue^u du \\&= 2(ue^u - \int e^u du) \\&= 2(ue^u - e^u) \\&= 2\sqrt{x}e^{\sqrt{x}} - 2e^{\sqrt{x}}\end{aligned}$$

Question 3

Compute $\int_0^1 \frac{2x}{\sqrt{x^2+1}} dx$.

Question 3 - Solution

Compute $\int_0^1 \frac{2x}{\sqrt{x^2+1}} dx$.

Question 3 - Solution

Compute $\int_0^1 \frac{2x}{\sqrt{x^2+1}} dx$.

Don't you dare use trig substitution!!!

Question 3 - Solution

Compute $\int_0^1 \frac{2x}{\sqrt{x^2+1}} dx$.

Don't you dare use trig substitution!!!

Let $u = x^2 + 1$. So $du = 2x dx$. Notice $u(0) = 0^2 + 1 = 1$ and $u(1) = 1^2 + 1 = 2$.

Question 3 - Solution

Compute $\int_0^1 \frac{2x}{\sqrt{x^2+1}} dx$.

Don't you dare use trig substitution!!!

Let $u = x^2 + 1$. So $du = 2x dx$. Notice $u(0) = 0^2 + 1 = 1$ and $u(1) = 1^2 + 1 = 2$.

$$\int_0^1 \frac{2x}{\sqrt{x^2+1}} dx = \int_1^2 \frac{du}{\sqrt{u}}$$

Question 3 - Solution

Compute $\int_0^1 \frac{2x}{\sqrt{x^2+1}} dx$.

Don't you dare use trig substitution!!!

Let $u = x^2 + 1$. So $du = 2x dx$. Notice $u(0) = 0^2 + 1 = 1$ and $u(1) = 1^2 + 1 = 2$.

$$\begin{aligned} \int_0^1 \frac{2x}{\sqrt{x^2+1}} dx &= \int_1^2 \frac{du}{\sqrt{u}} \\ &= 2\sqrt{u} \Big|_1^2 \end{aligned}$$

Question 3 - Solution

Compute $\int_0^1 \frac{2x}{\sqrt{x^2+1}} dx$.

Don't you dare use trig substitution!!!

Let $u = x^2 + 1$. So $du = 2x dx$. Notice $u(0) = 0^2 + 1 = 1$ and $u(1) = 1^2 + 1 = 2$.

$$\begin{aligned}\int_0^1 \frac{2x}{\sqrt{x^2+1}} dx &= \int_1^2 \frac{du}{\sqrt{u}} \\ &= 2\sqrt{u} \Big|_1^2 \\ &= 2\sqrt{2} - 2\sqrt{1}\end{aligned}$$

Question 3 - Solution

Compute $\int_0^1 \frac{2x}{\sqrt{x^2+1}} dx$.

Don't you dare use trig substitution!!!

Let $u = x^2 + 1$. So $du = 2x dx$. Notice $u(0) = 0^2 + 1 = 1$ and $u(1) = 1^2 + 1 = 2$.

$$\begin{aligned}\int_0^1 \frac{2x}{\sqrt{x^2+1}} dx &= \int_1^2 \frac{du}{\sqrt{u}} \\ &= 2\sqrt{u} \Big|_1^2 \\ &= 2\sqrt{2} - 2\sqrt{1} \\ &= 2\sqrt{2} - 2\end{aligned}$$

Question 3 - Solution

Compute $\int_0^1 \frac{2x}{\sqrt{x^2+1}} dx$.

Don't you dare use trig substitution!!!

Let $u = x^2 + 1$. So $du = 2x dx$. Notice $u(0) = 0^2 + 1 = 1$ and $u(1) = 1^2 + 1 = 2$.

$$\begin{aligned}\int_0^1 \frac{2x}{\sqrt{x^2+1}} dx &= \int_1^2 \frac{du}{\sqrt{u}} \\ &= 2\sqrt{u} \Big|_1^2 \\ &= 2\sqrt{2} - 2\sqrt{1} \\ &= 2\sqrt{2} - 2 \\ &= 0.828427124746190097603377\dots\end{aligned}$$

Question 4

Compute $\int_{-0.5}^{0.5} x^{11} \cos(x) \tan(x) \sin(x)$.

Question 4 - Solution

Compute $\int_{-0.5}^{0.5} x^{11} \cos(x) \sin(x) \tan(x)$.

Question 4 - Solution

Compute $\int_{-0.5}^{0.5} x^{11} \cos(x) \sin(x) \tan(x)$.

Solution: Notice that x^{11} is an odd function, $\cos(x)$ is an even function, $\sin(x)$ is an odd function, and $\tan(x) = \sin(x)/\cos(x)$ is an odd function divided by an even function hence is an odd function.

Question 4 - Solution

Compute $\int_{-0.5}^{0.5} x^{11} \cos(x) \sin(x) \tan(x)$.

Solution: Notice that x^{11} is an odd function, $\cos(x)$ is an even function, $\sin(x)$ is an odd function, and $\tan(x) = \sin(x)/\cos(x)$ is an odd function divided by an even function hence is an odd function.

So odd + even + odd + odd = odd. Hence, as the integral is symmetric, by symmetry the integral is 0.

Question 4 - Solution

Compute $\int_{-0.5}^{0.5} x^{11} \cos(x) \sin(x) \tan(x)$.

Solution: Notice that x^{11} is an odd function, $\cos(x)$ is an even function, $\sin(x)$ is an odd function, and $\tan(x) = \sin(x)/\cos(x)$ is an odd function divided by an even function hence is an odd function.

So odd + even + odd + odd = odd. Hence, as the integral is symmetric, by symmetry the integral is 0.

Alternatively, and more formally, let

$f(x) := x^{11} \cos(x) \sin(x) \tan(x)$. Then notice that

$$f(-x) = (-x)^{11} \cos(-x) \sin(-x) \tan(-x)$$

Question 4 - Solution

Compute $\int_{-0.5}^{0.5} x^{11} \cos(x) \sin(x) \tan(x)$.

Solution: Notice that x^{11} is an odd function, $\cos(x)$ is an even function, $\sin(x)$ is an odd function, and $\tan(x) = \sin(x)/\cos(x)$ is an odd function divided by an even function hence is an odd function.

So odd + even + odd + odd = odd. Hence, as the integral is symmetric, by symmetry the integral is 0.

Alternatively, and more formally, let

$f(x) := x^{11} \cos(x) \sin(x) \tan(x)$. Then notice that

$$\begin{aligned} f(-x) &= (-x)^{11} \cos(-x) \sin(-x) \tan(-x) \\ &= (-1)^{11} x^{11} \cos(x) (-1) \sin(x) (-1) \tan(x) \end{aligned}$$

Question 4 - Solution

Compute $\int_{-0.5}^{0.5} x^{11} \cos(x) \sin(x) \tan(x)$.

Solution: Notice that x^{11} is an odd function, $\cos(x)$ is an even function, $\sin(x)$ is an odd function, and $\tan(x) = \sin(x)/\cos(x)$ is an odd function divided by an even function hence is an odd function.

So odd + even + odd + odd = odd. Hence, as the integral is symmetric, by symmetry the integral is 0.

Alternatively, and more formally, let

$f(x) := x^{11} \cos(x) \sin(x) \tan(x)$. Then notice that

$$\begin{aligned} f(-x) &= (-x)^{11} \cos(-x) \sin(-x) \tan(-x) \\ &= (-1)^{11} x^{11} \cos(x) (-1) \sin(x) (-1) \tan(x) \\ &= (-1)^{13} x^{11} \cos(x) \sin(x) \tan(x) \end{aligned}$$

Question 4 - Solution

Compute $\int_{-0.5}^{0.5} x^{11} \cos(x) \sin(x) \tan(x)$.

Solution: Notice that x^{11} is an odd function, $\cos(x)$ is an even function, $\sin(x)$ is an odd function, and $\tan(x) = \sin(x)/\cos(x)$ is an odd function divided by an even function hence is an odd function.

So odd + even + odd + odd = odd. Hence, as the integral is symmetric, by symmetry the integral is 0.

Alternatively, and more formally, let

$f(x) := x^{11} \cos(x) \sin(x) \tan(x)$. Then notice that

$$\begin{aligned} f(-x) &= (-x)^{11} \cos(-x) \sin(-x) \tan(-x) \\ &= (-1)^{11} x^{11} \cos(x) (-1) \sin(x) (-1) \tan(x) \\ &= (-1)^{13} x^{11} \cos(x) \sin(x) \tan(x) \\ &= -x^{11} \cos(x) \sin(x) \tan(x) \end{aligned}$$

Question 4 - Solution

Compute $\int_{-0.5}^{0.5} x^{11} \cos(x) \sin(x) \tan(x)$.

Solution: Notice that x^{11} is an odd function, $\cos(x)$ is an even function, $\sin(x)$ is an odd function, and $\tan(x) = \sin(x)/\cos(x)$ is an odd function divided by an even function hence is an odd function.

So odd + even + odd + odd = odd. Hence, as the integral is symmetric, by symmetry the integral is 0.

Alternatively, and more formally, let

$f(x) := x^{11} \cos(x) \sin(x) \tan(x)$. Then notice that

$$\begin{aligned} f(-x) &= (-x)^{11} \cos(-x) \sin(-x) \tan(-x) \\ &= (-1)^{11} x^{11} \cos(x) (-1) \sin(x) (-1) \tan(x) \\ &= (-1)^{13} x^{11} \cos(x) \sin(x) \tan(x) \\ &= -x^{11} \cos(x) \sin(x) \tan(x) \\ &= -f(x) \end{aligned}$$

Question 5

Compute $\int \ln(x) dx$.

Question 5 - Solution

Compute $\int \ln(x) dx$.

Question 5 - Solution

Compute $\int \ln(x) dx$.

Recall $\int \ln(x) dx = \int (1) \ln(x) dx$

Question 5 - Solution

Compute $\int \ln(x) dx$.

Recall $\int \ln(x) dx = \int (1) \ln(x) dx$

Now use integration by parts. Let $u = \ln(x)$ and $dv = (1) dx$.

Question 5 - Solution

Compute $\int \ln(x) dx$.

Recall $\int \ln(x) dx = \int (1) \ln(x) dx$

Now use integration by parts. Let $u = \ln(x)$ and $dv = (1) dx$.

$$\begin{array}{ll} u = \ln(x) & v = x \\ du = \frac{dx}{x} & dv = dx \end{array}$$

Question 5 - Solution

Compute $\int \ln(x) dx$.

Recall $\int \ln(x) dx = \int (1) \ln(x) dx$

Now use integration by parts. Let $u = \ln(x)$ and $dv = (1) dx$.

$$\begin{aligned} u &= \ln(x) & v &= x \\ du &= \frac{dx}{x} & dv &= dx \end{aligned}$$

Hence

$$\int \ln(x) dx = x \ln(x) - \int dx$$

Question 5 - Solution

Compute $\int \ln(x) dx$.

Recall $\int \ln(x) dx = \int (1) \ln(x) dx$

Now use integration by parts. Let $u = \ln(x)$ and $dv = (1) dx$.

$$\begin{aligned} u &= \ln(x) & v &= x \\ du &= \frac{dx}{x} & dv &= dx \end{aligned}$$

Hence

$$\begin{aligned} \int \ln(x) dx &= x \ln(x) - \int dx \\ &= x \ln(x) - x \end{aligned}$$